Test 1

Part 2

For questions 13-24, read the text below and think of the word which best fits each gap. Use only
one word in each gap. There is an example at the beginning (0).

Write your answers IN CAPITAL LETTERS on the separate answer sheet.

Example: EI FlO|R

A man of many parts

Life on a remote Scottish island is wonderfully peaceful. But (0) .......... one lecal, Hamish McAlpine,
life is far from relaxing. This is because Hamish has fourteen jobs. (13) .......... he meets me off
the ferry, harbour master Hamish is the one and (14) .......... person in sight. Luckily, he is also the
island’s taxi driver, so he takes me to the hotel, (15) .......... he owns. He can even (16) .......... found

serving behind the counter at the local shop.

It all started not (17) .......... after Hamish married his wife Donna in 1964. The couple were asked
(18) .......... they would like to run the post office. Then Hamish found himself agreeing to become
fire chief, policeman and coastguard. Now, having given 35 years of devoted service, Hamish
(19) .......... about to retire. But who will (20) .......... over his jobs? Can one person do it all or will the

jobs have to be split up?

Apart (21) .......... their week-long honeymoon on the mainland, the couple have had hardly
2.2 p— holidays. ‘Donna and | have worked together every day for the last 35 years. But who
knows, once we have lots of time on our hands we (23) .......... find we can’t stand the sight of each

(24) .......... .’ says Hamish, his eyes twinkling mischievously.
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